—60Kg#h

Fig B (LUZ)

ZR=)IENWUB)EEKEX| s | &l | B4
=1 (=) S O 2 0 1
ana| o [T~—] 0O HERE
AKEIK) A A 0 2 3
~66Kgi
AF (L)
At (FLR)
EL (%) I
FAT(BRH)
=1 (L)
7 3Kgi
P (L) RE (W) B3 (W=)|| s | &l | IERL
At (L) O O 2 0 1
wHWS)| A \ S 1 1 2
BB (L) A A 0 2 3
-81Kgf
TEUE)MRE (L) HEBR (L) |ER (BUX)| s | &l | IER
& (L) & O 3 0 1
RE (L) A e O 2 1 2
R (L) A A \ O 1 2 3
fER (RX) A A A 0 3 4
~100Kg#k
FA (L) R (L) E3 (L)) Bs | &l | IBAL
Tk (L) O O 2 0 1
HE L% A \ O 1 1 2
—1i5(BX) A A 0 2 3
+100Kg#k ~90Kg#k
FAT &R (LL=F) AT (L)




